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Question No. 1 solve on OMR sheet and first half hour for this

question.
Question Nos. 1 and 2 are compulsory.
All questions carry equal marks.

Negative marks for wrong answers.
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MCQ

Business Economics helps managers in ..................... .

(A)  Decision-making (B) Planning

(C) Minimise Cost (D)  All of these
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Which of the following is economic objectives of a business firm ?
(A) Survival
(B)  Building up public confidence
(C) Labour welfare
(D) Desire for liquidity
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Which of the following is/are the types of measurement of price
elasticity ?

(A) Total expenditure method

(B) Geometric method

(C)  Arc method

(D) All of the above

EoaUeh! fhAdel @erdiehdl AT ThR hivd 2
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Point elasticity is calculated with :

Lower segment of the demand curve below the given point

(&) Upper segment of the demand curve above the given point
% change in demand

(B) % change in price
% change in demand

©) % change in income
% change in income

(D)

% change in demand
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(5) In case of neutral goods the cross elasticity of demand is ............... )
(A) Positive (B) Negative
(C)  Zero (D)  Unit
WH’QHWWQ‘E%W R‘I{Gh{*l @qr‘qch('“ ........................
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(6) According to Adam Smith Production is .................... )
(A) Creation of Physical goods
(B) Merely creation of utility
(C) Creation of utility having exchange value
(D) None of the above
sfer fomy A T IR WU e .
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Which of the following is an external diseconomies ?
(A) Pressure on Banking business
(B) Pressure on basic facilities
(C)  Problems of transporting
(D)  All of the above
TSGUh! IV Sfeid STa=d 3Tg 2
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When marginal product becomes zero, then the total product is :

(A) Minimum (B) Maximum
(C) Zero (D) Negative
Stegl FEAd Sced I Bd desl THU IARA
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C) IA (D) =

In the short run, when the output of the firm increases its average
fixed cost :

(A) Increases (B)  Decreases

(C) Remain constants (D) None of these
STTTRIGH T e T€ deen SR sier ¢
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If fixed cost is Rs. 5,000 and variable cost per unit will be Rs. 100,
what will be the total cost for producing 50 units ?

(A) Rs. 50,000 (B) Rs. 55,000

(C) Rs. 10,000 (D)  Rs. 20,000

SR fer @9 5,000 % 9 d€@al TE 100 T T A 8@, W 50 T I9R
FIOTES! TR T fohdl @M@ ?

(A) 50,000 =. (B) 55,000 %®.

(C) 10,000 ®. (D) 20,000 %=
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Theory
2. What is Business Economics ? Explain the scope of business economics.
G AWTE TS i 7 AT SRS Al T .
3. What is price elasticity of demand ? State its kinds.

qrroiEl frdd oafgedl O % ? fa9 YRR 9L

Or
(fenam)
State the external economies.
e sl I o |
4. Explain the law of returns to scale.
HHIUTh ol r{'ie&id e .
Or
(fenam)

Write short notes on :
(@) Total cost of production
@) Real cost of production.
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